
 
rkd;ghLfs; 

 fhuzpfisg; gad;gLj;jp ,Ugbr; rkd;ghLfis jPu;j;jy;. 
                                 x2

 - 5x + 6  = 0   vDk; ,Ugbr; rkd;ghl;bd; %yq;fisf; fhz;f.            

     
                               (   x - 2) (   x - 3) = 0     ( fhuzpfs; fhzg;gl;Ls;sJ ) 

                      /  ,q;F       (x - 2) = 0  my;yJ   (x - 3) = 0     

                                          x  = 2  my;yJ   x  = 3 jPu;TfshFk;.     

tpdh:    

    1.       x (x + 5) = 0   

       / ,q;F x = 0  my;yJ   (x + 5) = 0    

                 x  = 0  my;yJ   x = .........  jPu;TfshFk;.     

        

       2.        x2 - 2x  = 0   

              x(   ...................) = 0   

      / ,q;F x = 0  my;yJ   (..........) = 0    

                 x = ....................   

       x  = 0  my;yJ   x = .........  jPu;TfshFk;.      

 

khfhz fy;tpj; jpizf;fsk; - thuhe;jg; ghlrhiy 

ghlk;:  fzpjk;  

juk;: 11 
Mf;fk;: Mrpupia  A.M.F. e];upd; 

Nf/ Nffhiy rh`puh kfh tpj;jpahyak; 

thuk;  - 9 


